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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2016 C L«X, 2017 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

◊•Tˆ›Ã^ Yy ( 2nd Paper : Indian Society ) 
a]Ã^  f ªªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) \ˆÁÃ[˝Tˆ›Ã^ a]Á„LÃ[˝ B„EıÓÃ[˝ Y“E ı◊Tˆ ◊[˝‰`¿bS EıÃ[˝”X* 
 (F) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L %Á±¡›Ã^TˆÁÃ[˝ [˝μ˘„XÃ[˝ È[˝◊`rÙÓm◊_ 

[˝ÓÁFÓÁ EıÃ[˝”X* 
 (G) ◊c˜≥V« W˝]ÔV`Ô„XÃ[˝ %X«aÃ[˝„S Y«Ã[˝”bÁUÔ, @S C [˝SÔÁ`“] 

W˝ÁÃ[˝SÁÃ[˝ Y◊Ã[˝ªJÙÃ^ ◊VX* 
 (H) LXaeFÓÁ ◊[˝XÓÁa [˝_„Tˆ ◊Eı Â[˝ÁMıÁ„XÁ c˜Ã^ ? \ˆÁÃ[˝„Tˆ 

LXaeFÓÁ ◊[˝XÓÁ„aÃ[˝ ]…_ È[˝◊`rÙÓm◊_„Eı ◊[˝‰`¿bS 

EıÃ[˝”X*  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) Y“ÁªJÙ›X \ˆÁÃ[˝„TˆÃ[˝ a]ÁL[˝Ó[˝ÿöˆÁÃ[˝ Ã[˝÷Y ◊[˝‰`¿bS EıÃ[˝”X* 

(F) Â^ÏU Y◊Ã[˝[˝ÁÃ[˝ ◊Eı ? ◊c˜≥V« Â^ÏU Y◊Ã[˝[˝Á„Ã[˝Ã[˝ 

È[˝◊`rÙÓm◊_Ã[˝ Y◊Ã[˝ªJÙÃ^ ◊VX* 

(G) ◊[˝[˝Ác˜ ◊Eı ? \ˆÁÃ[˝„Tˆ Y“ªJÙ◊_Tˆ ◊[˝[˝Á„c˜Ã[˝ ◊[˝◊\ˆ~ 

W˝Ã[˝Xm◊_Ã[˝ Y◊Ã[˝ªJÙÃ^ ◊VX* 

(H) LÁTˆ-aªJÙ_TˆÁÃ[˝ Y“E ı◊Tˆ C Y“◊y‘Ã^Áa]…c˜ [˝ÓÁFÓÁ EıÃ[˝”X* 

(I¯) ◊`F„VÃ[˝ aÁ]Á◊LEı %ÁªJÙÃ[˝S◊[˝◊W˝ C aeïıÁÃ[˝[˝ÁV› 

%Á„≥VÁ_Xm◊_Ã[˝ Y◊Ã[˝ªJÙÃ^ [˝ÓÁFÓÁ EıÃ[˝”X* 

(ªªJÙ˜) "XGÃ[˝ÁÃ^X' EıUÁ◊ªRÙOÃ[˝ %UÔ ◊Eı ? \ˆÁÃ[˝„Tˆ XGÃ[˝-=~Ã^X C 

XGÃ[˝-Y◊Ã[˝EıîXÁÃ[˝ mÃ[˝”±ºˆ ◊XSÔÃ^ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) G–Á]›S BEıÓ [˝_„Tˆ ◊Eı Â[˝ÁMıÁ„XÁ c˜Ã^ ? 

(F) %[˝Ã[˝-LÁTˆ ◊Eı ? 

(G) [˝Ã[˝YS ◊Eı ? 

(H) ]«a◊_] ◊[˝[˝Á„c˜ "Â]Ác˜Ã[˝'-AÃ[˝ TˆÁdY^Ô ◊Eı ? 

(I¯) "M«ı]À' [˝_„Tˆ ◊Eı Â[˝ÁMıÁ„XÁ c˜Ã^ ? 

(ªJÙ) \ˆÁÃ[˝„Tˆ F–›rÙW˝„]ÔÃ[˝ Y“ªJÙ_X C Y“aÁÃ[˝S ◊Eı\ˆÁ„[˝ c˜„Ã^‰ªK˜ ? 

(ªK˜) mÃ[˝” XÁX„EıÃ[˝ V`Ô„XÃ[˝ ]…_ [˝N˛[˝Óm◊_ ◊Eı ◊Eı ? 

(L) \ˆÁÃ[˝„Tˆ Y◊Ã[˝„[˝` %Á„≥VÁ_„XÃ[˝ TˆÁdY^Ô ◊Eı ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Analyse the nature of unity in Indian 

society. 

(b) Examine the characteristics of kinship ties 

in Indian society. 

(c) Explain the concepts of Purushartha, Rhin 

and Varnashrama following Hindu theology.  

(d) What   is   meant   by   demography  ?   

Analyse  the  main  characteristics of   

demographical distribution  in  India. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Give an account of the nature of society in 

ancient India. 

(b) What is joint family ? Discuss the 

characteristics of Hindu joint family.  

(c) What is the meaning of marriage ? Discuss 

the different types of marriage practised in 

India. 

(d) Discuss the nature and processes of caste-

mobility. 

(e) Explain the social practices of the Shikhs 

and their reformist movements. 

(f) What is meant by 'urbanisation' ? Make an 

assessment of the importance of urban 

development and urban planning in India. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is meant by rural unity ? 

(b) What is subcaste ? 

(c) What is dowry ? 

(d) What is the significance of 'Mehr' in Muslim 

marriage ? 

(e) What is meant by 'Jhum' ? 

(f) How had Christianity been introduced and 

spread in India ? 

(g) What are the basic tenets of Guru Nanak's 

philosophy ? 

(h) What is the significance of environment 

movements in India ? 

    


